Terminator Wizard x|

— Terminator analysis r— Termination zuggestions

Metname: AAl = Anol Values |
Mumber driver IC's; 1 R

MNurmber recerer [C's: 3
MNumber resistors: 1
MNumber capacitors: 0
Driverimpedance: 28.9 ohms
Drivertransition ime: 0.271 ns
Total netlength, including
packaging: 13328 cm

Apply tolerance:
Impedance Z0: 84.8 ohms = Enact Value [~
Effective £0: 508 ohms )
— Hint:
Termination found: series termination Effective impedance includes

the average line impedance
. atd receiver loading.
Resistar R suggested: 21.9 ohms ?

Length ta driver. 0.745 cm =l

Delays are copper only; 1C
loading/threzholdz and signal
reflections are not included.
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